NO PAINT 1" AROUND

NOTCH FOR FIELD WELDING

NO PAINT 1" AROUND
NOTCH FOR FIELD WELDING

ok N
© QO "__ ____;m _____________________________________________________________________________________________________________ X _____ __—" Or—
" N L ___ Rthe _ _ _ _ /L] i
< T <
Ccn\\l 1316"0 1316"0 OE
p1152 p1152
19-3%6
1y 16'-37/s 1y
RD
3 11
p1152 (FIS)-, 274 _16-1"% |
\
\ 1T |u =
_———-- G- —--—--—-- - —- -\ — - — - — - — - - T T T T T T T T — — m— m— —— C— C— — - . - - - - - - - - - - - - — - — - — - — - — - — - — - ——0—-& ——————
—————— R R R A A N p1152 (N/S)
AN
p1152 (N/S) TYP ~p1152 (F/S)
- 16'-43g (HSS8X6X'2 x 16'-37/)

2 - VERTICAL BRACES - 1171D1

p1153 10% NO PAINT 1" AROUND NO PAINT 1" AROUND 100 p1153
NOTCH NOTCH FOR FIELD WELDING NOTCH FOR FIELD WELDING NOTCH
of s L VR% T e N T
ren~_—_— .. R T
o T
N 13/16“® 13/16 (%] N
p1153 p1153
1911716
1y 16'-5%16 Uy
RD
23, .29/
p1153(B/S)—\ . 16-2%e
m L o — — — =
_________________________________________________________________________________________________________________________________________________________ _‘b__________
(a0}
_____ _'_____________________________________________________________________________________________W_____\p1153(B/S)
TYP
- 16'-51316 (HSS6X6X 10 x 16'-5%16)

ONE - VERTICAL BRACE - 1171D2

SHIPPING
BILL BILL OF MATERIAL
QTY MARK MARK] QTY DESCRIPTION LENGTH WEIGHT REMARKS
2 1171D1 VERTICAL BRACES 650 B1013
1171D1 2 HSSBX6X1/2 16'-3 7/8" 1289 |A500-GR.C
p1152 8 PL1/4"X2 9/16" 0-8" 12 |Ase
1 1171D2 VERTICAL BRACES 550 B1012
117102 1 HSSEX6X1/2 16'-5 5/16" 545 | As00-GR.C
p1153 4 PL1/4"X2 5/8" 0-6" 4 |ase
TOTAL WEIGHT THIS DRAWING 1850
TOTAL
Memb FIELD BOLT LENGTH
ember QTy. OLTS
1171D1 4 |3/4"@ A307 BOLT 07"
1171D2 2 |3/4"@ A307 BOLT 07"
For Fabrication
SHOP NOTES:
1. ALL STEELS ARE A36 U.N.O.
2. ¢® - DENOTES CONNECTING SIDE MARK. REF.DWG. E1004,E1013
PAINT : CENTURY COATING 220-D-344 GRAY PRIMER HOLES: 13/16" UNL. NTD.

SURFACE PREP.: _-

MIL THICKNESS

NOTICE TO CONTRACTORS AND ERECTOR

BACK CHARGES FOR CORRECTIVE WORK OR REPLACED MATERIALS
WILL NOT BE ACCEPTED UNLESS AUTHORIZED IN WRITING BY
POSTEL INTERNATIONAL INC. BEFORE SUCH COSTS ARE INCURRED

REVISIONS

NO. DATE BY
zfx 01/12/2021 PBH
A 11/20/2020 JM

ELECTRODES : E70XX

UNL. NTD.

DRAWN BY:

oxe._10/26/2020 | pare. 10/26/2020

L CHKD BY:

PBH

JOB NO.

SHEET NO.

1171

/0\




Tekla Structures

<
<
73 .
18'-795 {P\f
7
RD %
3,3 5'-107h 11'-3 16"-7%6
3,3
< . -
2
PN < - e —¢ + ¢
Z
N o~ o~ o~
(-1'-27116) L4X3X3g x 17'-1%16 (-338)
2 - BRACES - 118BR1
18'-738
RD
3 5-11116 11'-5%6 16'-11
3,3
N N
< R - _,,__—_—_—_—H e A H:L +
&
P o~ o~
7.,9\,
2
b4
(-3%g) L4X3X3g x 17'-5 (-11)
2 - BRACES - 118BR2
b117 b117
L —4{ 4( L
! =1
18'-73
3 8
= RD
11 11 3 5-1111he 11556 1611
S
= ~b117 (FIS) 3,3
b117 (F/S)~ /7<TACK WELD TYP
42 #— AN \ / (q\]
Va4 =] 7 N
B B R —— + 3
— W
= ~ o~ &
N
DETAIL OF b117 <
(-11) L4X3X3k x 17'-5 (-3%g)

2 - BRACES - 118BR3

CITY OF HOUSTON APPROVED FABRICATOR # 867

S BILL OF MATERIAL
BILL
QTY MARK MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
2 118BR1 BRACES 145 118BR1
118BR1 2 L4X3X3/8 17'-1 9/16" 290
2 118BR2 BRACES 148 118BR2
118BR2 2 L4X3X3/8 17'-5" 295
2 118BR3 BRACES 149 118BR3
118BR3 2 L4X3X3/8 17'-5" 295
b117 4 PL3/8"X3" 0-3" 4 A36
2 118P1 GUSSET_PLATES 16
118P1 2 PL3/8"X6" 2'-0 3/4" 32
TOTAL WEIGHT THIS DRAWING 916
Member TOTAL FIELD BOLTS LENGTH
QTY.
118BR1 8 |3/4"@ A325N BOLT 0'-2 1/4"
118BR3 12 |3/4"@ A325N BOLT 0'-2 1/4"
118P1 2 |3/4"@ A325N BOLT 0'-2 1/4"
™
© 4+
™
3 63 63 313
PL38X6 x 2'-034

SHOP NOTES:

2 - GUSSET_ PLATES - 118P1

For Fabrication

1. ALL STEELS ARE A36 U.N.O.
2. <«® - DENOTES CONNECTING SIDE MARK
PAINT : Century Coating 220-D-334, Grey Primer U.N.O

REF.DWG. E106

HOLES :

13/16"d U.N.O UNL. NTD.

NOTICE TO CONTRACTORS AND ERECTOR

BACK CHARGES FOR CORRECTIVE WORK OR REPLACED MATERIALS
WILL NOT BE ACCEPTED UNLESS AUTHORIZED IN WRITING BY
POSTEL INTERNATIONAL INC. BEFORE SUCH COSTS ARE INCURRED

SURFACE PREP.: SSPC SP2 MIL THICKNESS _- ELECTRODES : E7OXX/E7XT-X UNL. NTD.
REVISIONS

NO. DATE BY

A 05/20/2020 SSP

‘ cus

06/29/2020 SSP

PROJ.

zfx 07/21/2020 SSP
prRawNBY: _ OSSP | cukpey: i JOBNO. SHEET NO. /\
owre _05/16/2020 | pue. _05/17/2020 118 0




	1171-R0
	118-R0



